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51,775

321,195

98,839

1

321,195

o | OB |W NP

144,800

937,805
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177,540 125,765 5.52
1,440,537 1,119,342 34.25
83,164 15,675 10.54
1 0
1,558,091 1,236,896 34.25
401,400 256,600 15.44
3,660,733 2,722,928 100.00
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927,026 3,660,602
10,779 131
937,805 3,660,733
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2,733,576 372,970 144,800 409,255 98.85

10,648 10,779 1.15

2,722,928 372,970 144,800 420,034 100.00
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51,775 177,540 125,765
51,775 177,540 125,765
51,775 177,540 125,765
321,195 1,440,537 1,119,342
197,451 36,726 160,725
197,451 36,726 160,725
123,744 1,403,811 1,280,067
123,744 1,403,811 1,280,067
98,839 83,164 15,675
98,839 83,164 15,675
98,839 83,164 15,675
1 1 0

1 1 0

1 1 0
321,195 1,558,091 1,236,896
321,195 1,558,091 1,236,896
321,195 1,558,091 1,236,896
144,800 401,400 256,600
144,800 401,400 256,600
144,800 401,400 256,600
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51,775 1,265
50,510

197,451 197,451
123,744 123,744
98,839 98,839
1 1
321,195 321,195
144,800 144,800
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927,026, 3,660,602 2,733,576 372,970 144,800 409,255
927,026 3,660,602 2,733,576 372,970 144,800| 409,255
927,026 3,660,602 2,733,576 372,970 144,800, 409,255

1 7,736
2 14,938
3 19,426
4 8,563
7 2,734
8 2,878
10 5,195
11 8,380
12 438,582
13 17
14 387,266
16 209
18 1,026
21 900
24 1
26 5
27 29,170

008501

02

03

04

008502

01

03

04

07

08

10

11

12

39,868

14,938
14,938
17,892
1,314
245
8,097
3,656
2,828
976
336
440
7,038
7,011
27

887,158

7,736
7,736
1,534
1,534
1,525
81
1,444
2,734
50
2,600
84
2,878
2,726
152
5,195
50
75
70
5,000
8,380
8,343
37
438,582
35,431
2,530
43,682
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10,779 131 10,648 10,779
10,779 131 10,648 10,779
1,450 0 1,450 1,450
9,329 131 9,198 9,329

215,820
140,679
440

13 17
17

14 387,266
149,981
162,285
75,000

16 209
209

18 1,026
100
926

21 900
900

24 1
1

26 5
5

27 29,170
25,139
4,031
22 1,450/ 008506 1,450

22 1,450
1,450
22 9,329/ 008505 9,329

22 9,329
9,329
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e G- B

1 — ik
(1) #ats
e ia 5. % . =
= Hes A 2
sy | MR w R | WETES 3 AR 5 & i
(N) (FmM) (+mM) (+mM) (FM) (FM) (FM)
AR AR B 7 7,736 14,938 18,986 41,660 8,563 50,223
Al A 7 7,347 15,947 18,425 41,719 8,285 50,004
o g 389 A 1,009 561 A 59 278 219
ik g | mE |RERISN B | @ | Huk | EE
g N FY | Y | #HE | Y| Y| Y Ty
2 FM| FM| FMD] FM)) FF (FH) FH)
DIk £ OE 1,314 245| 8,097| 5,190| 2,828 976 336
';E A | 1,116 219] 7,854| 5,332 2,880 1,024
. th $§ 198 26 243 A 142 A\ 52 A 48 336
7 SatE TR B LS OB E
. #h 5 E% . A =
s | MR T W EE 7 RAR Fo i
(N) (FmM) (FmM) (FmM) (FM) (FM) (FM)
AR AR 4 14,938 17,452 32,390 7,038 39,428
il A 4 15,947 16,955 32,902 6,853 39,755
g A 1,009 497 A 512 185 A 327
ik g | @ (RERSN WK | B | Mk | FE
E x4y FY | Y | ®E | Y| Y| PY | Py
e 7 T4
B FM| G| FRD] GFMD) GFE)) FH) GHD
DIk £ E 1,314 245| 8,097| 3,656| 2,828 976 336
z;, A & | 1,116 219] 7,854 3,862 2,880 1,024
. th $§ 198 26 243 A 206 A\ 52 A 48 336
A DEHEELAEE
e A 5. % s ~ =
sy MR T B EEY 7 RAR T i
(N) (FmM) (FmM) (FmM) (FH) (FH) (FH)
ZNES 3 7,736 1,534 9,270 1,525 10,795
Al 4F B 3 7,347 1,470 8,817 1,432 10,249
e g 389 64 453 93 546
ik g | mE (RSN Wik | @ | Mk | FE
E N FY | Y | ®E | Y| Y| PY | FY
I Ty
B FM CFM CFM CFRY CFRD CFRD CFD
DA EE 1,534
5; o 1,470
e % 64
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(2) etk M OV B 214 OO HERAR oD B (2 4 AT A B 2 )

B BB AR

X4y i
7 (M) o
Fa ek B UOE D BRI Y RV N N Y
A Hn 4y 152
OOy A 1,193 |0k B SREhE 2 LD
BETY il B S BV RS BE IR 1218 HtEiz ko WIARTFY 8
T4 111
/ ] Hid 24 2
AR N oy 68 R TY 33
B FY 26
_ Hid 24 9
ZF D OHEIRSY 308| %k B > H BN LA (B Y 198
T M RAD LB ST LRI, | 38 T 2 26
RE M S T4 243
WIARTY A 247
B FY A 189
Hide 24 A 59
EEFY 336
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(3) A EE R O B T4 OARDL (S FHF AR AR B 2 FR<)

7 BB ASEYEE

X 5 — AT B
S A () 343,767
SM54E1H L BESH S A%EH) 549,597
HIE[E B F B (%) 44 1% 11 H
S kA () 338,000
ST44E1H 1 B ESHBES AEWAE) 582,431
BUE[E % 4 I (%) 43 1% 12 H
A4 IUEAS
o [E] D) &
X 4 #lm/ — "y
ES HEEAT Bk (1) T )
w2 154,600 154,600
K ¥ 185,200 185,200
v AR B _ 4
— A T B &Rt
X5y @ Tk B 5 |t Ak Lt @ Tk B 5 | M Ak Lt
A 1 (%) (A 1 (%)
7 7
6 6
%
il 5 2 66.7 5 2 66.7
5
? 4 1 33.3 4 1 33.3
A
1 3 3
A
g7 2 2
1
1 1
= 3 100 2 3 100
7 7
6 6
%
il 5 2 66.7 5 2 66.7
4
? 4 1 33.3 4 1 33.3
A
1 3 3
A
g7 2 2
1E
1 1
s 3 100 3 3 100
GER B! D REAE ) 72 k25 PN X))
X4y 7% 6%k 5% A%k 3tk 2% 1%
—fEATEO | mEemE | sE-RE R % E B FIES - Hfii
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s P (A NPAN 7
— AT B
B (A) (N 4 4
SRR DI B 5 (B) (N) 3 3
158 ON,
25 (N)
35 fa ON,
A ) A5HE (N) 3 3
SAEEUH PR
55 fa ON,
655 (N)
TERE (N)
85 (N
t# (B)/(A) (%) 75 75
B2 (A) (N) 4 4
FASIRDIR B 2K (B) ON, 4 4
1546 (N
254 (N)
35 (N
HITAF B ) 454G (N) 4 4
52 GUIAEN
55 (N
6544 (N)
T (N
85 (N)
ek (B)/(A) (%) 100 100
F HIRFY - B TFY
SRR SR " T
o 6HA%) | 12HHD) B iﬁggifg&%ﬁ%@ i
AR FE 2.200 2.200 4.40 el
RITAF B 2.150 2.150 4.30 el
= Dl BE 2.200 2.200 4.40 el
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71 TEAEIRN M OVENSE IR AR DBk T 24

B Zoﬁﬁj‘g”j 25@??%? 35@%;;“”,;%; Wﬁ]ﬁfi) romonEESs | e
IknEREE | 24.586875 | 33.27075 47.709 47.709 (2% ~ 204 IV EE)
iill £ TEAF BT - A IR R AR 15 5 1
(4 22555 24.586875 | 33.27075 47.709 47.709 (2% ~ 454 IV EE)
X Mgk Ty
S T PN 4k
* el ES (%) 6.0
e xt T B (\) 4
[E D FLYEI T H S KGR (%) 6.0
7 DD TFY

X5y [E D EE & D FL[A] ERDONE
- ] [Fi] T
EEFY ] T
)T [Fi] T




